
H–251 

(Assignment Work)

Organisation & Management   

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          
mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 
01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 
04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 
vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- iwoZ fu/kkZfjr y{;ksa dh izkfIr gsrq ‘kkldh; vuqefr }kjk cuk;k x;k laxBu gh -------------------- laxBu gSA 
.................... organization is the only organization created by the permission of the government 
to achieve pre-determined goals. 

2- dSV~t rFkk dSu us viuh iqLrd ßb.MfLVª;y lkbdksykWthÞ esa ------------------- izdkj ds laxBuksa dk mYys[k fd;k 
gSA 
Katz and Kan in their book “Industrial Psychology” mentioned ................... types of 
organization. 

3-  ----------- O;fDrRo dh vfHkO;fDr gSA 
...........is an expression of personality. 

4-  ----------- O;fDr dh ekufld voLFkk] euksoSKkfud txr~ ls lEcfU/kr gSA 
..................... is concerned with the mental state of a person, the psychological world. 

5- iz.kkyh dk ‘kkfCnd vFkZ ---------------------- gksrk gSA 
The literal meaning of the system is .................... . 



  

6- MsÇux ds vuqlkj fu;kstu fdrus izdkj ds gksrs gSa \ 
What are the types of planning according to Denning ? 

7-  --------------------- ls vk’k; lHkh izdkj ds fojks/k vFkok fojks/kh vUr%fØ;k ls gSA 
.................. means all kinds of opposition or opposing interaction. 

8- lqfopkfjr ;kstuk cukdj ifjorZu djus dh izfØ;k dks ----------------------- dgk tkrk gSA 
The process of making a change my planning a well though out plan is called a ................ . 

[k.M&c 
(Section—B) 

9- laxBu dh vk/kqfud fopkj/kkjk D;k gS \ 
What is the modern ideology of the organization ? 

10- lh[kus dk mís’; ls D;k vk’k; gS \ 
What do you mean by objective of learning ? 

11- vocks/k dks ifjHkkf”kr dhft,A 
Define perception. 

12- O;fDrRo dks ifjHkkf”kr dhft,A 
Define personality. 

13- usr̀Ro ds egRo dks Li”V dhft,A 
Explain the importance of leadership. 

14- visf{kr ifjorZu ls D;k vk’k; gS \ 
What does you mean by expected change ? 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- laxBukRed O;ogkj dk bfrgkl ,oa mn~xe ij fVIi.kh fyf[k,A 

Write a note on history and origin of organizational behaviour. 

16- izcU/k izfØ;k dh ladYiuk dks vius ‘kCnksa esa le>kb,A 

Explain in your own words the concept of management process. 

17- fu;kstu dh lhekvksa ij izdk’k Mkfy,A 

Highlight the limitations of planning. 

18- ifjorZu izcU/k dh izfØ;k ij fVIi.kh fyf[k,A 

Write a note on process of change management. 



  

l=h; dk;Z&3 
(Assignment—3) 

[k.M&n 

(Section—D) 

19- laxBu ds mís’;] izÑfr] izfØ;k] fl)kUr rFkk dk;ks± dk foLr̀r o.kZu dhft,A 

Describe in detail the objectives, nature, process, principles and functions of organization. 

20- vocks/k dh izfØ;k rFkk fl)kUr dh O;k[;k dhft,A 
Explain the process and principles of perception. 

21- mís’;kuqlkj izcU/ku D;k gS \ mís’;ksa dk oxhZdj.k dj mís’;kuqlkj izcU/ku dh izfØ;k dks Li”V dhft,A 
What is management by objective ? Clarify objectives and explain the process of management 
by objectives. 

22- vfHkizsj.k ds izdkj] rduhd rFkk leL;kvksa ij izdk’k Mkfy,A 
Highlight the types, techniques and problems of motivation. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- laxBu esa la?k”kZ ds dkj.k rFkk blds izdkjksa dh foLr`r O;k[;k dhft,A 
Explain in detail the causes and types of conflict in organization. 

24- lEizs”k.k D;k gS \ lEizs”k.k izfØ;k ds fofHkUu pj.kksa dks Li”V dhft,A 
What is communication ? Explain various stages of communication process. 

 

 

 

 

 

 

 

 
 

 

 



  

H -252 

(Assignment Work)

Business Environment  

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          
mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 
01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 
04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 
vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- Hkkjrh; lafo/kku }kjk izR;sd ukxfjd dks fdrus ekSfyd vf/kdkj izkIr gaS \ 
How many fundamental rights are given to every citizen by the Indian Constitution ? 

2- fdl vf/kfu;e ds vUrxZr dkj[kkuksa esa dk;Zjr Jfedksa dh dk;Z n’kkvksa] jkstxkj ,oa dY;k.k gsrq fo’ks”k 
izko/kku j[kk x;k gS \ 
Under which act special provisions have been made for the working conditions of the workers 
working in factories and employment. 

3- ------------------------------ ;kstuk dk izeq[k mís’; chfer deZpkfj;ksa rFkk muds ifjokjksa dks fofHkUu izdkj ds ykHk rFkk 
lqfo/kk,¡ iznku djuk gSA 
.................. scheme has the main objective to provide various benefits and facilities to the 
insured employees and their families. 

4- ------------------------ o”kZ esa Hkkjr esa bZ&iz’kklu dk vkjaHk gqvkA 

E-Administration started in India in the year .................. . 



  

5- AAIFR dk iw.kZ :i D;k gS \ 
What is the full form of AAIFR ? 

6- vkfFkZd fu;kstu dk izeq[k mís’; vf/kdre ykxr ij U;wure mRikn djuk gksrk gSA ¼lR;@vlR;½ 
The main objective of economic planning is to produce minimum at maximum cost.  
 (True/False)  

7- vUrjkZ”Vªh; eqnzk dks”k dks lu~ --------------------------------- esa xfBr fd;k x;kA 
International Monetary Fund was formed in ................. . 

8- -------------------------- ls ns’k dh vFkZO;oLFkk dks fo’o dh vFkZO;oLFkk ds lkFk ,dhd`r fd;k tk ldrk gSA 
With ................. the country’s economy can be integrated with the world’s economy. 

[k.M&c 
(Section—B) 

9- lkekftd okrkoj.k dks ifjHkkf”kr dhft,A 
Define social environment. 

10- O;kikj dh lkekftd ftEesnkjh dh fo’ks”krk,¡ crkb,A 
State the essential features of social responsibility of business. 

11- dEiuh dk lekiu ls D;k rkRi;Z gS \ 
What does end of company mean ? 

12- vkfFkZd fu;kstu ds lkekftd mís’;ksa ij izdk’k Mkfy,A 
Elucidate on social objectives of economic planning. 

13- Hkqxrku lUrqyu ls vki D;k le>rs gSa \ 
What do you understand by Balance of Payment ? 

14- fons’kh iw¡th dk vFkZ Li”V dhft,A 
Explain the meaning of Foreign Capital. 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- Hkkjr esa y?kq m|ksxksa dh vko’;drk ij izdk’k Mkfy,A 
Highlight the need of small scale industries in India. 

16- Qsjk o Qsek ds e/; vUrj Li”V dhft,A 
Differentiate between FERA and FEMA. 

17- vkS|ksfxd fookn vf/kfu;e] 1947 dh O;k[;k dhft,A 
Explain Industrial Disputes Act, 1947. 

18- vkfFkZd okrkoj.k dks izHkkfor djus okys izeq[k ?kVdksa ij izdk’k Mkfy,A 
Highlight the key factors affecting the economic environment. 



  

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- O;kikj vkSj laLd`fr ,d&nwljs ls dSls lEcfU/kr gSa \ Hkkjr ds lkekftd okrkoj.k ,oa vYi fodkl ij 
ppkZ dhft,A 
How are business and culture related to each other ? Discuss social environment of India and 
under- development. 

20- deZpkjh jkT; chek vf/kfu;e] 1948 dh O;k[;k dhft,A 
Explain Employees State Insurance Act, 1948. 

21- vkfFkZd uhfr dh fo’ks”krkvksa] la?kVd rFkk egRoksa ij izdk’k Mkfy,A 
Highlight the features, components and importance of economic policy. 

22- fo’o O;kikj laxBu ds dk;Z] mís’; rFkk <k¡ps ij izdk’k Mkfy,A 
Highlight the functions, objectives and structure of World Trade organisation. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- Hkkjr esa lwpuk izkS|ksfxdh dk fodkl rFkk ubZ fo’o lwpuk ,oa lapkj ij foLr̀r ppkZ dhft,A 
Discuss in detail the development of information technology in India and the new world 
information and communication system. 

24- vkS|ksfxd #X.krk ds dkj.k] ifj.kke rFkk fuokj.k ds mik; crkb,A 
Explain in your own words the causes, consequences and measures to prevent industrial 
sickness. 

 

 

 

 
 

 

 



  

H -253 

(Assignment Work)

Financial & Corporate Accounting

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          
mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 
01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 
04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 
vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
           (Assignment—1) 
[k.M&v 
(Section—A) 

1- izFke ys[kkadu izeki fdlls lEcfU/kr gS \ 
The first accounting standard is related to ........... . 

2- ys[kkadu ds fdl fl)kUr ds vuqlkj izR;sd MsfcV ewY; dk mruk gh ØsfMV ewY; gksrk gS \ 
According to which concept of accounting every debit value has equal credit value ? 

3- O;olk; dk fLFkj izys[k D;k gS \ 
What is the static document of Business ? 

4- iwokZf/kdkjh va’kksa ds ‘kks/ku ds le; izhfe;e ds vk;kstu djus dh tuZy izfof”V nhft,A 

Give the journal entry for provision of premium at the redemption of preference shares. 

5- _.ki=ksa ds ‘kks/ku ij ykHk dh fLFkfr dc mRiUu gksrh gS \ 

When do profits arise on redemption of debentures ? 

6- vYidkyhu _.kksa esa dkSu&ls _.k ‘kkfey fd;s tkrs gSa \ 

Which loans are included in short-term loans ? 



  

7- ,dhdj.k ds iwoZ ‘ks”k LVkWd ij dek;k gqvk ykHk ---------------------------- dgykrk gSA 

The profit earned on the stock remaining before amalgamation is called ..................... 

8- cSafdax lsDVj esa CRR ,oa SLR dks ---------------------------- dgk tkrk gSA 

In the banking sector, CRR and SLR are called ............. . 

[k.M&c 

(Section—B) 

9- oS/kkfud lap; dks le>kb,A 

Explain the Statutory Reserve. 

10- vlekIr tksf[keksa ds fy, lap; ls D;k vk’k; gS \ 

What are the reserves for unexpired risks ? 

11- ;kstuk ,oa xSj&;kstuk O;; ls vki D;k le>rs gSa \ 

What do you mean by plan and non-plan expenditure ? 

12- ^lkekftd mŸkjnkf;Ro* ls D;k rkRi;Z gS \ 

What is meant by ‘Social Responsibility’ ? 

13- ewY; o/kZu dh ldy ,oa ‘kq) ladYiukvksa dks le>kb,A 
Explain gross and net concepts of value added. 

14- Hkkjr esa i;kZoj.k ys[kkadu gsrq dkuwuh <k¡ps dks fyf[k,A 
Write the name of legal framework for environmental accounting in India. 

l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 
(Section—C) 

15- Hkkjr esa foŸkh; iz’kklu ds lkekU; <k¡ps dks le>kb,A 
Explain the general structure of financial administration in India. 

16- thou chek ,oa lkekU; chek esa vUrj Li”V dhft,A 
Difference between Life Insurance and General Insurance. 

17- nksgjk [kkrk iz.kkyh ds xq.k&nks”kksa dk o.kZu dhft,A 

Discuss the merits and demerits of double account system. 

18- i;kZoj.k ys[kkadu ls vki D;k le>rs gSa \ i;kZoj.k ys[kkadu dh izfØ;k dks le>kb,A 
What do you mean by Environmental Accounting ? Explain the process of environmental 

accounting. 

 

 



  

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- lkekftd ys[kkadu dks ifjHkkf”kr dhft,A dkYifud vk¡dM+ksa ls ,d lkekftd mŸkjnkf;Ro fooj.k&i= 

rS;kj dhft,A 

Define Social Accounting. Prepare a social responsibility statement with imaginary figures. 

20- cSad ds ykHk@gkfu [kkrs dk uewuk nhft, rFkk blds izR;sd ‘kh”kZd dks la{ksi esa le>kb,A 

Give specimen of Bank’s Profit and Loss Account and explain its each head in brief. 

21- dEifu;ksa ds ,dhdj.k ls vki D;k le>rs gSa \ ,dhdj.k ds fy, ys[kkadu ij tkjh AS-14 ds eq[; 

fcUnqvksa dk o.kZu dhft,A 

What do you understand by amalgamation of companies ? Describe the main features of AS-14 

accounting for amalgamation. 

22- ‘kks/kuh; iwokZf/kdkj va’kksa ls vki D;k le>rs gSa \ ,sls va’kksa ds ‘kks/ku lEcU/kh dEiuh vf/kfu;e] 2013 ds 

izko/kkuksa dks crkb,A 

What do you understand by Redeemable Preference Shares ? State the provisions of Companies 

Act, 2013 regarding the redemption of such shares. 

    l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 
(Section—E) 

23- ,d dEiuh ftldh vf/kd`r iw¡th ` 5]00]000 gS tks ` 10 okys 50000 va’kksa esa foHkkftr Gs] vius leLr 
va’k fuEu izdkj ls ns; fuxZfer djrh gS % 
` 3 izkFkZuk&i= ds lkFk ¼` 1 izhfe;e lfgr½ 
` 3 vkcaVu ij ¼` 1 izhfe;e lfgr½ 
` 3 izFke ek¡x ij vkSj ` 3 f}rh; ek¡x ij 
leLr va’k jkf’k izkIr gks tkrh gS] flok; 200 va’kksa ij izFke ek¡x ds rFkk 500 va’kksa ij f}rh; ek¡x ds 
¼buesa os 200 va’k lfEefyr gSa ftu ij izFke ek¡x jkf’k izkIr ugha gqbZ Fkh½A 
lHkh 500 va’k cksMZ }kjk gj.k dj fy;s x;s] ftlesa ls 400 va’kksa dk ` 7 izfr va’k dh nj ls iw.kZ iznŸk 
:i esa iqufuZxZeu fd;k tkrk gSA tuZy o jksdM+ iqLrd esa izfof”V;k¡ dhft, rFkk va’k gj.k [kkrk] 
izfrHkwfr izhfe;e [kkrk o dEiuh dk fpV~Bk cukb,A 
A company whose authorised capital is ` 5,00,000 and which is divided into 50000 shares of ` 10 
each, issues all its shares payable as follows : 

` 3 with application (including ` 1 as premium) 

` 3 on allotment (including ` 1 as premium) 

` 3 on first call and ` 3 on second call 



  

The whole of the share amount is received except on 200 shares of first call and on 500 shares of 
second call (these included 200 shares on which first call money was not received). 

The above 500 shares are forfeited by the board of which 400 shares are reissued at ` 7 per share 
as fully paid. Give journal and cash book entries and prepare Forfeited share’s Account, Security 
Premium Account and Balance Sheet of the company. 

24- 1 tuojh] 2002 dks lqjsUnz fy- us turk esa ` 5 yk[k ds _.ki= tkjh fd;s tks 5 o”kZ i’pkr~ le ewY; 
ij ‘kks/kuh; gSaA _.ki=ksa ds ‘kks/ku ds fy, ;g fuf’pr fd;k x;k fd flafdax Q.M dk fuekZ.k dj fn;k 
tk;sA flafdax Q.M rkfydk,¡ ;g crkrh gSa fd ;fn ` 0-184627 dk /ku izfro”kZ fudkyk tk;s rFkk 4% 
izfrHkwfr;ksa esa fofu;ksx fd;k tk;s] rks 5 o”kZ i’pkr~ ;g jkf’k ` 1 gks tk;sxhA _.ki=ksa dk Hkqxrku ns; 
frfFk ij dj fn;k x;kA 
vko’;d tuZy izfof”V;k¡ dhft, rFkk _.ki= [kkrk] _.ki= flafdax Q.M [kkrk rFkk _.ki= flafdax 
Q.M fofu;ksx [kkrk 5 o”kks± dk rS;kj dhft,A 
On 1st January, 2002 Surendra Ltd. issued debentures worth ` 5 lakhs repayable after 5 years at 
par. It was decided to set up a sinking fund for the purpose of redeeming the above debentures. 
Sinking fund table reveal that an amount of ` 0.184627 set aside every year and invested in 4% 
securities will amount to ` 1 after five years. The debentures were paid on the due date. 

Give Journal entries and prepare Debenture’s Account, Debenture Sinking Fund Account and 
Debenture Sinking Fund Investment Account for five years. 
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H -254 

(Assignment Work)

 Financial Management 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad          
mŸkj 'kCn lhek 1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 
01 vad dk  gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 
vad dk gksxkA mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 
04 vad dk gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 
vad dk gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

    l=h; dk;Z&1 

(Assignment—1) 

[k.M&v 
(Section—A) 

1- vuqHkwfr ,d jk”Vªh;d`r cSad esa ` 10]000 5% okf”kZd C;kt dh nj ls tek djrh gS] rks mls ,d o”kZ ckn 
fdruk C;kt feysxk \ 

Anubhuti deposits ` 10,000 at a rate of 5% p. a. in a nationalised bank. How much interest she 
will get after one year ? 

2- ‘ADB’ dk iwjk uke D;k gS \ 
What is the full form of ‘ADB’ ? 

3- va’k D;k gS \ 
What is Share ? 

4- ctVu D;k gS \ 
What is Budgeting ? 

5- vf/k’ks”k fdls dgrs gSa \ 
What is Surplus ? 

6- ykHkka’k D;k gS \ 



  

What is dividend ? 

7- izeki ewY; D;k gS \ 
What is Standard Price ? 

8- lk[k uhfr D;k gS \ 
What is Credit Policy ? 

[k.M&c 
(Section—B) 

9- eqnzk dk le; ewY; D;ksa gksrk gS \ 
Why does currency have a time value ? 

10- iw¡th dh ykxr ls vkidk D;k vk’k; gS \ 
What do you mean by Cost of Capital ? 

11- ifj;kstuk dk D;k vFkZ gS \ 
What is the meaning of project ? 

12- iwokZf/kdkj va’kksa dh fo’ks”krk,¡ crkb,A 
Explain the characteristics of preference shares. 

13- vuqdwyre iw¡th lajpuk ds p;u ds D;k vk/kkj gks ldrs gSa \ 
What can be the basis for choosing the optimal capital structure ? 

14- mŸkksyd D;k gS \ 
What is Leverage ? 

   l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 
(Section—C) 

15- foŸkh; izca/k dh izd`fr dks le>kb,A 
Define the nature of financial management. 

16- lk/kkj.k C;kt ,oa pØof̀) C;kt esa varj crkb,A 
State the difference between simple interest and compound interest. 

17- ifj;kstuk dh vkfFkZd ,oa lkekftd laHkkO;rk ls vkidk D;k rkRi;Z gS \ 
What do you mean by the economic and social feasibility of project ? 

18- nh?kZdkyhu foŸk ds izeq[k lzksrksa dks le>kb,A 
Explain the major sources of long-term finance. 

 

 

 

 



  

   l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 
(Section—D) 

19- jksdM+ izokg D;k gksrk gS \ bls dSls Kkr fd;k tkrk gS \ 
What is Cash Flow ? How is it determined ? 

20- ,d dEiuh fuEufyf[kr foŸkh; ;kstukvksa esa ls fdlh ,d dks pquus dk fodYi j[krh gSA vki izR;sd 
fLFkfr esa foŸkh; mŸkksyu dh x.kuk dhft, % 
                      foŸkh; ;kstuk 

 A 

(`) 

B 

(`) 

C 

(`) 

lerk va’k iw¡th 40,000 20,000 60,000 

_.k 40,000 60,000 20,000 

ifjpkyu ykHk ¼C;kt ,oa 
dj ds iwoZ½ 8,000 8,000 8,000 

_.k ij C;kt 10% dh nj ls lHkh fLFkfr esaA 
A company has choise of the following three financial plans. You are required to calculate the 
financial leverage in each case : 

                                               Financial Plan 

 A 

(`) 

B 

(`) 

C 

(`) 

Equity Share Capital 40,000 20,000 60,000 

Debt 40,000 60,000 20,000 

Operating Profit (EBIT) 8,000 8,000 8,000 

Interest on loan @ 10% in all case. 

21- ykHkksa ds iqufoZfu;kstu dk D;k vk’k; gS \ bls izHkkfor djus okys rRoksa dk o.kZu dhft,A 
What is the meaning of re-appropriation of benefits ? Describe the elements affacting it. 

 

22- ykHkka’k uhfr dk vFkZ crkb,A ykHkka’k uhfr dks izHkkfor djus okys izeq[k rRoksa dk o.kZu dhft,A 
Explain the meaning of dividend policy. Describe the major factors influencing dividend policy. 

[k.M&b 
(Section—E) 

23- foŸkh; izca/k esa iw¡th dh ykxr dh vo/kkj.kk dk D;k egRo gS \ fofHkUu izdkj dh iw¡th dh ykxr dk 
fu/kkZj.k dSls fd;k tkrk gS \ 
What is the importance of the concept of cost of capital in financial management ? How to 
determine the cost of different types of capital ? 

24-  izhfr fyfeVsM ,d u;h e’khu ds Ø; ij fopkj dj jgh gS tks fd Je }kjk dh tkus okyh fØ;kvksa dks 
djsxhA X rFkk Y oSdfYid izfr:i gSaA uhps nh x;h lwpuk ls ykHknk;drk fooj.k cukb, vkSj (i) 



  

vnk;xh vof/k fof/k rFkk (ii) vnk;xh vof/k ds i’pkr~ ykHknk;drk dks vk/kkj ekurs gq, loksZŸke dk 
p;u dhft,A 
dj dh nj 50% gSA kl dk /;ku ugha j[kuk gS % 

  e’khu X e’khu Y 
(a) e’khu dk vuqekfur thoudky 

¼o”kZ esa½ 6 5 
(b) e’khu dh ykxr (`) 2,25,000 2,70,000 

(c) vizR;{k lkexzh dh ykxr (`) 9,000 10,000 

(d) vo’ks”k esa vuqekfur cpr (`) 15,000 20,000 

(e) ,fMfVesVsM (`) 16,000 20,000 

(f) izR;{k etnwjh esa vuqekfur 
cpr % 

  

 (i) deZpkjh dh la[;k ftudh 

   vko’;drk ugha gS 200 260 

 (ii) izR;sd deZpkjh dh etnwjh        
                       (`) 500 500 

Preeti Ltd. is considering the purchase of a new machine which will carry out some operations 
performed by labour. X and Y are alternative models. From the following information you are 
required to prepare a profitability statement and which will you select on the basis of (i) pay-
back period and (ii) post payback profitability. Tax rate is 50%. Ignore depreciation for 
calculation of tax : 

  Machine 
X 

Machine 
Y 

(a) Estimated life of machine 
(in years) 6 5 

(b) Cost of machine (`) 2,25,000 2,70,000 
(c) Cost of Indirect material (`) 9,000 10,000 
(d) Estimated saving in scrap  

                                        (`) 
15,000 20,000 

(e) Additimated                   (`) 16,000 20,000 
(f) Estimated saving in direct 

wages : 
  

 (i)  Employees not required   
(No) 200 260 

 (ii) Wages per employee (`) 500 500 

 

 

 

 

 

 

 

 

 

 
 

 


